	Lake Erie (State License Only)				
		2018			
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$		
ALEWIFE	0	NA	\$0		
BOWFIN	0	\$0.30	\$0		
BUFFALO	11,182	\$0.67	\$7,492		
BULLHEAD	4,645	\$0.61	\$2,833		
BURBOT	0	\$1.24	\$0		
CARP	34,721	\$0.27	\$9,375		
CHANNEL CATFISH	51,828	\$0.56	\$29,024		
CHUB (Dressed Wt.)	0	NA	\$0		
CRAPPIE	0	\$4.48	\$0		
GAR PIKE	0	NA	\$0		
GIZZARD SHAD	118,000	\$0.10	\$11,800		
GOLD FISH	11,428	\$1.00	\$11,428		
LAKE HERRING (Dressed Wt.)	0	NA	\$0		
LEAN LAKE TROUT	0	NA	\$0		
MENOMINEE	0	NA	\$0		
QUILLBACK	11,335	\$0.55	\$6,234		
ROCK BASS	0	\$1.52	\$0		
SHEEPHEAD	4,549	\$0.35	\$1,592		
SMELT	0	NA NA	\$0		
SUCKER	149	\$0.35	\$52		
WHITE BASS	50,444	\$1.62	\$81,719		
WHITE PERCH	4,747	\$1.49	\$7,073		
WHITEFISH	4,100	\$1.99	\$8,159		
YELLOW PERCH	0	\$3.43	\$0		
	,	<b>40.10</b>	<b>—</b>		
	FISHERY TOTAL PROI	DUCTION (ROUND lb)	307,128		
	FISHERY TOTAL VALU	JE .	\$176,782		
NOTE: Beginning in 2017					
Dressed Wt. = 1.13 conversion	2018: TO	OP 5 SPECIES IN VALU	E		
factor	1)	WHITE BASS	\$81,719		
	2)	CHANNEL CATFISH	\$29,024		
	3)	GIZZARD SHAD	\$11,800		
	4)	GOLD FISH	\$11,428		
	5)	WHITEFISH	\$8,159		
	2040, TOD 5 0050	DIEG IN DOLIND DOLIND	S CALICUT		
		CIZZARD SHAD			
	1)	GIZZARD SHAD	118,000		
	2)	CHANNEL CATFISH	51,828		
	3)	WHITE BASS	50,444		
	4)	CARP	34,721		

GOLD FISH

11,428

	Lake Erie (State License Only)			
		2017	•	
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$	
ALEWIFE	0	NA	\$0	
BOWFIN	0	\$0.30	\$0	
BUFFALO	21,571	\$1.00	\$21,571	
BULLHEAD	16,820	\$0.66	\$11,101	
BURBOT	0	\$1.75	\$0	
CARP	46,707	\$0.28	\$13,078	
CHANNEL CATFISH	81,639	\$0.45	\$36,738	
CHUB (Dressed Wt.)	0	NA	\$0	
CRAPPIE	0	\$3.68	\$0	
GAR PIKE	0	NA	\$0	
GIZZARD SHAD	40,200	\$0.10	\$4,020	
GOLD FISH	28,082	\$1.00	\$28,082	
LAKE HERRING (Dressed Wt.)	0	NA	\$0	
LEAN LAKE TROUT	0	NA	\$0	
MENOMINEE	0	NA	\$0	
QUILLBACK	25,281	\$0.43	\$10,871	
ROCK BASS	0	\$1.55	\$0	
SHEEPHEAD	9,777	\$0.24	\$2,346	
SMELT	0	NA	\$0	
SUCKER	120	\$0.29	\$35	
WHITE BASS	63,270	\$0.86	\$54,412	
WHITE PERCH	14,672	\$1.14	\$16,726	
WHITEFISH	0	\$1.89	\$0	
YELLOW PERCH	0	\$3.27	\$0	
	FISHERY TOTAL PROI	DUCTION (ROUND Ib)	348,139	
	FISHERY TOTAL VALU		\$198,980	
NOTE: Decision in 0047			ψ.00,000	
NOTE: Beginning in 2017 Dressed Wt. = 1.13 conversion	2017	: TOP 5 SPECIES IN VA	ALUE	
factor	1)	WHITE BASS	\$54,412	
	2)	CHANNEL CATFISH	\$36,738	
	3)	GOLD FISH	\$28,082	
	4)	BUFFALO	\$21,571	
	5)	WHITE PERCH	\$16,726	
	2047, TOD 5 01		INDC CALICLIT	
		PECIES IN ROUND POL		
	1)	CHANNEL CATFISH	81,639	
	2)	WHITEBASS CARP	63,270	
	3)		46,707	
	4)	GIZZARD SHAD	40,200	
	5)	GOLD FISH	28,082	

	Lake Erie (State License Only)				
		2016			
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$		
ALEWIFE	0	NA	\$0		
BOWFIN	2,333	NA	\$0		
BUFFALO	73,119	\$0.80	\$58,495		
BULLHEAD	29,493	\$0.61	\$17,991		
BURBOT	0	\$0.15	\$0		
CARP	187,838	\$0.28	\$52,595		
CHANNEL CATFISH	155,315	\$0.43	\$66,785		
CHUB (Dressed Wt.)	0	\$4.11	\$0		
CRAPPIE	0	\$3.20	\$0		
GAR PIKE	0	NA	\$0		
GIZZARD SHAD	0	NA	\$0		
GOLD FISH	86,818	\$1.00	\$86,818		
LAKE HERRING (Dressed Wt.)	0	NA	\$0		
LEAN LAKE TROUT	0	NA	\$0		
MENOMINEE	0	NA	\$0		
QUILLBACK	69,213	\$0.30	\$20,764		
ROCK BASS	0	\$1.75	\$0		
SHEEPHEAD	17,282	\$0.31	\$5,357		
SMELT	0	NA	\$0		
SUCKER	705	\$0.35	\$247		
WHITE BASS	166,613	\$0.62	\$103,300		
WHITE PERCH	35,708	\$0.80	\$28,566		
WHITEFISH	0	\$1.59	\$0		
YELLOW PERCH	0	\$3.73	\$0		
	FIGUEDY TOTAL DDO	DUCTION (DOLIND II)	004.40		
	FISHERY TOTAL PROD		824,437		
NOTE D	FISHERY TOTAL VALU	/ <b>C</b>	\$440,919		
NOTE: Beginning in 2017 Dressed Wt. = 1.13 conversion	2016	S: TOP 5 SPECIES IN VA	ALUE		
factor	1)	WHITE BASS	\$103,300		
	2)	GOLD FISH	\$86,818		
	3)	CHANNEL CATFISH	\$66,785		
	4)	BUFFALO	\$58,495		
	5)	CARP	\$52,595		
	2040, TOD 5 01	DECIES IN DOUND BOL	INDS CALICUT		
	2016: TOP 5 SI	PECIES IN ROUND POL CARP	JNDS CAUGHT 187,838		
	2)	WHITEBASS	166,613		
	3)	CHANNEL CATFISH	155,315		
	4)	GOLD FISH	86,818		
	7)	GOLD FISH			

BUFFALO

73,119

## **SPECIES**

ALEWIFE

**BOWFIN** 

**BUFFALO** 

**BULLHEAD** 

**BURBOT** 

CARP

**CHANNEL CATFISH** 

CHUB (Dressed Wt.)

CRAPPIE

**GAR PIKE** 

**GIZZARD SHAD** 

**GOLD FISH** 

LAKE HERRING (Dressed Wt.)

LEAN LAKE TROUT

MENOMINEE

QUILLBACK

**ROCK BASS** 

SHEEPHEAD

SMELT

SUCKER

WHITE BASS

WHITE PERCH

WHITEFISH

YELLOW PERCH

NOTE: Dressed Wt. = 1.17 conversion factor

Lake Erie (State License Only)				
	2013			
lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$		
0	NA	\$0		
0	NA	\$0		
164,345	\$0.54	\$88,746		
8,600	\$0.48	\$4,128		
0	NA	\$0		
256,606	\$0.28	\$71,850		
102,197	\$0.48	\$49,055		
0	\$4.05	\$0		
0	\$3.47	\$0		
0	NA	\$0		
40,050	\$0.22	\$8,811		
28,146	\$1.00	\$28,146		
0	NA	\$0		
0	NA	\$0		
0	NA	\$0		
139,048	\$0.33	\$45,886		
0	\$1.00	\$0		
73,161	\$0.24	\$17,559		
0	NA	\$0		
10,276	\$0.17	\$1,747		
188,008	\$0.56	\$105,284		
33,506	\$0.43	\$14,408		
0	\$2.09	\$0		
0	\$2.30	\$0		
FISHERY TOTAL PRO	DUCTION (ROUND lb)	1,043,943		
FISHERY TOTAL VALU		\$435,619		
		–		
	3: TOP 5 SPECIES IN VA			
1)	WHITE BASS	\$105,284		
2)	BUFFALO	\$88,746		
3)	CHANNEL CATERLY	\$71,850 \$40,055		
4)	CHANNEL CATFISH	\$49,055 \$45,886		
5)	QUILLBACK	\$45,886		
2013: TOP 5 S	PECIES IN ROUND POL	JNDS CAUGHT		
1)	CARP	256,606		
2)	WHITEBASS	188,008		
3)	BUFFALO	164,345		
4)	QUILLBACK	139,048		
5)	CHANNEL CATFISH	102,197		

	Lake Erie (State License Only)			Lake Erie (State License Only)			
		2012	,			2011	,
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$	I	(ROUND)	PRICE/POUND (AVG)	TOTAL \$
ALEWIFE	0	NA	\$0		0	NA	\$0
BOWFIN	1,915	\$0.50	\$958				
BUFFALO	221,257	\$0.47	\$103,991		107,610	\$0.54	\$58,109
BULLHEAD	24,450	\$0.47	\$11,492		57,670	\$0.42	\$24,221
BURBOT	0	\$1.00	\$0		0	NA	\$0
CARP	509,697	\$0.27	\$137,618		401,034	\$0.26	\$104,269
CHANNEL CATFISH	135,002	\$0.51	\$68,851		138,540	\$0.45	\$62,343
CHUB (Dressed Wt.)	0	NA	\$0		0	\$3.00	\$0
CRAPPIE	0	\$2.46	\$0		0	\$3.64	\$0
GAR PIKE	0	NA	\$0		0	NA	\$0
GIZZARD SHAD	110,800	\$0.20	\$22,160		0	NA	\$0
GOLD FISH	57,041	\$0.99	\$56,471		84,857	\$0.83	\$70,431
LAKE HERRING (Dressed Wt.)	0	NA	\$0		0	\$0.50	\$0
LEAN LAKE TROUT	0	NA	\$0		0	\$0.50	\$0
MENOMINEE	0	NA	\$0		0	\$0.75	\$0
QUILLBACK	92,415	\$0.32	\$29,573		84,727	\$0.29	\$24,571
ROCK BASS	0	\$0.92	\$0		0	\$1.10	\$0
SHEEPHEAD	137,677	\$0.22	\$30,289		227,873	\$0.21	\$47,853
SMELT	0	NA	\$0		0	\$1.50	\$0
SUCKER	12,772	\$0.19	\$2,427		17,435	\$0.23	\$4,010
WHITE BASS	96,931	\$0.69	\$66,882		47,058	\$0.90	\$42,352
WHITE PERCH	26,081	\$0.50	\$13,041		31,949	\$0.50	\$15,975
WHITEFISH	6,436	\$1.61	\$10,362		4,155	\$1.39	\$5,775
YELLOW PERCH	0	\$2.52	\$0		0	\$2.54	\$0
	FIGUEDY TOTAL DOOR	NI OTIONI (DOLIND II)	4 400 550	FIOLIF	DV TOTAL DDO	DUCTION (DOUBLE)	4 000 000
	FISHERY TOTAL PROI		1,430,559		RY TOTAL PROI	DUCTION (ROUND lb)	1,202,908
	FISHERY TOTAL VALU	'E	\$553,155	FISHE	RY IOTAL VALU	<b>/</b> C	\$459,910
NOTE: Dressed Wt. = 1.17 conversion factor	2012	: TOP 5 SPECIES IN VA	1115		2011	: TOP 5 SPECIES IN VA	IIIE
conversion factor	1)	CARP	\$137,618.00	1)	2011	CARP	\$104,268.84
	2)	BUFFALO	\$103,991	2)		GOLD FISH	\$704,208.64
	3)	CHANNEL CATFISH	\$68,851	3)		CHANNEL CATFISH	\$62,343
	4)	WHITE BASS	\$66,882	4)		BUFFALO	\$58,109
	5)	GOLD FISH	\$56,471	5)		SHEEPHEAD	\$47,853
	3)	GOLDTISH	φ50,47 1	3)		SHEEFHEAD	φ47,000
	2012: TOP 5 SI	PECIES IN ROUND POU	NDS CAUGHT		2011: TOP 5 S	PECIES IN ROUND POL	INDS CAUGHT
	1)	CARP	509,697	1)		CARP	401,034
	2)	BUFFALO	221,257	2)		SHEEPHEAD	227,873
	3)	SHEEPHEAD	137,677	3)		CHANNEL CATFISH	138,540
	4)	CHANNEL CATFISH	135,002	4)		BUFFALO	107,610
	5)	GIZZARD SHAD	110,800	5)		GOLDFISH	84,857

	Lake Erie (State License Only)			La	ke Erie (State License O	nly)
		2010			2009	
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$
ALEWIFE	0	\$0.30	\$0.00	0	NA	\$0.00
BOWFIN						
BUFFALO	68,511	\$0.48	\$32,885.28	130,301	\$0.50	\$65,150.50
BULLHEAD	47,612	\$0.44	\$20,949.28	45,924	\$0.41	\$18,828.84
BURBOT	0	\$0.90	\$0.00	0	\$1.00	\$0.00
CARP	176,749	\$0.25	\$44,187.25	198,942	\$0.26	\$51,724.92
CHANNEL CATFISH	64,913	\$0.47	\$30,509.11	64,725	\$0.48	\$31,068.00
CHUB (Dressed Wt.)	0	\$2.62	\$0.00	0	\$3.17	\$0.00
CRAPPIE	0	\$4.69	\$0.00	0	\$2.64	\$0.00
GAR PIKE	52	\$0.34	\$17.68	0	NA	\$0.00
GIZZARD SHAD	0	\$0.00	\$0.00	122,379	\$0.27	\$33,042.33
GOLD FISH	77,550	\$0.81	\$62,815.50	90,761	\$0.90	\$81,684.90
LAKE HERRING (Dressed Wt.)	0	\$0.40	\$0.00	0	\$0.51	\$0.00
LEAN LAKE TROUT	0	\$0.39	\$0.00	0	\$0.39	\$0.00
MENOMINEE	0	\$0.68	\$0.00	0	\$0.50	\$0.00
QUILLBACK	107,037	\$0.23	\$24,618.51	3,900	\$0.38	\$1,482.00
ROCK BASS	0	\$1.19	\$0.00	0	\$0.95	\$0.00
SHEEPHEAD	130,533	\$0.21	\$27,411.93	116,384	\$0.22	\$25,604.48
SMELT	0	\$1.39	\$0.00	0	\$2.98	\$0.00
SUCKER	7,919	\$0.18	\$1,425.42	11,339	\$0.27	\$3,061.53
WHITE BASS	37,021	\$0.74	\$27,395.54	96,456	\$0.65	\$62,696.40
WHITE PERCH	19,524	\$0.59	\$11,519.16	34,522	\$0.54	\$18,641.88
WHITEFISH	963	\$1.21	\$1,165.23	9,439	\$1.28	\$12,081.92
YELLOW PERCH	0	\$2.31	\$0.00	0	\$2.08	\$0.00
	FIGUEDY TOTAL DDO	DUCTION (DOLIND II)	700 004	FIGURERY TOTAL DRO	DUCTION (DOUND II)	005.070
	FISHERY TOTAL PROI FISHERY TOTAL VALU	` ·	738,384	FISHERY TOTAL PRO	· · · · · · · · · · · · · · · · · · ·	925,072
	FISHERY TOTAL VALU	/E	\$284,899.89	FISHERY TOTAL VALU	JE	\$405,067.70
NOTE: Dressed Wt. = 1.17 conversion factor	2010	: TOP 5 SPECIES IN VA	LUE	2009	9: TOP 5 SPECIES IN VA	ALUE
	1)	GOLD FISH	\$62,816	1)	GOLD FISH	\$81,685
	2)	CARP	\$44,187	2)	BUFFALO	\$65,151
	3)	BUFFALO	\$32,885	3)	WHITE BASS	\$62,696
	4)	CHANNEL CATFISH	\$30,509	4)	CARP	\$51,725
	5)	SHEEPHEAD	\$27,412	5)	GIZZARD SHAD	\$33,042
	,			,		
		PECIES IN ROUND POU		2009: TOP 5 S	PECIES IN ROUND POL	
	,	CARP	176,749	1)	CARP	198,942
	*	SHEEPHEAD	130,533	2)	BUFFALO	130,301
	,	QUILLBACK	107,037	3)	GIZZARD SHAD	122,379
	4)	GOLD FISH	77,550	4)	SHEEPHEAD	116,384
	5)	BUFFALO	68,511	5)	WHITE BASS	96,456

	Lal	ke Erie (State License On	nly)	Lai	ke Erie (State License Or	nly)
		2008	,,		2007	,
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$
ALEWIFE	0	NA	\$0.00	0	NA	\$0.00
BOWFIN						
BUFFALO	142,726	\$0.49	\$69,935.74	215,282	\$0.43	\$92,571.26
BULLHEAD	31,969	\$0.41	\$13,107.29	12,536	\$0.33	\$4,136.88
BURBOT	0	NA	\$0.00	0	\$0.10	\$0.00
CARP	204,881	\$0.24	\$49,171.44	241,356	\$0.26	\$62,752.56
CHANNEL CATFISH	71,385	\$0.52	\$37,120.20	98,979	\$0.44	\$43,550.76
CHUB (Dressed Wt.)	0	\$2.50	\$0.00	0	\$1.79	\$0.00
CRAPPIE	0	\$2.48	\$0.00	0	\$3.07	\$0.00
GAR PIKE	0	NA	\$0.00	0	NA	\$0.00
GIZZARD SHAD	134,008	\$0.25	\$33,502.00	242,695	\$0.26	\$63,100.70
GOLD FISH	84,361	\$0.75	\$63,270.75	39,140	\$0.68	\$26,615.20
LAKE HERRING (Dressed Wt.)	0	\$0.46	\$0.00	0	NA	\$0.00
LEAN LAKE TROUT	0	\$0.69	\$0.00	0	NA	\$0.00
MENOMINEE	0	\$0.94	\$0.00	0	\$0.63	\$0.00
QUILLBACK	2,257	\$0.35	\$789.95	9,900	\$0.27	\$2,673.00
ROCK BASS	0	\$0.69	\$0.00	0	\$0.85	\$0.00
SHEEPHEAD	137,304	\$0.22	\$30,206.88	67,072	\$0.18	\$12,072.96
SMELT	0	NA	\$0.00	0	\$1.00	\$0.00
SUCKER	11,244	\$0.20	\$2,248.80	9,712	\$0.16	\$1,553.92
WHITE BASS	98,041	\$0.56	\$54,902.96	77,249	\$0.83	\$64,116.67
WHITE PERCH	56,867	\$0.59	\$33,551.53	35,946	\$0.56	\$20,129.76
WHITEFISH	0	\$1.35	\$0.00	8,800	\$1.12	\$9,856.00
YELLOW PERCH	0	\$2.55	\$0.00	0	\$2.36	\$0.00
	=1011=01/=0=11			=1011=D\(\frac{1}{2}\) = 0.0		
	FISHERY TOTAL PROD		975,043	FISHERY TOTAL PRO		1,058,667
	FISHERY TOTAL VALU	E	\$387,807.54	FISHERY TOTAL VALU	JE	\$403,129.67
NOTE: Dressed Wt. = 1.17 conversion factor	2008	: TOP 5 SPECIES IN VA	JUF	2007	7: TOP 5 SPECIES IN VA	LUE
conversion ractor	1)	BUFFALO	\$69,936	1)	BUFFALO	\$92,571
	′	GOLD FISH	\$63,271	2)	WHITE BASS	\$64,117
	3)	WHITE BASS	\$54,903	3)	GIZZARD SHAD	\$63,101
	4)	CARP	\$49,171	4)	CARP	\$62,753
	5)	CHANNEL CATFISH	\$37,120	5)	CHANNEL CATFISH	\$43,551
	-,		, , , , , , , , , , , , , , , , , , ,	- /		, 2,22
	2008: TOP 5 SI	PECIES IN ROUND POU	INDS CAUGHT	2007: TOP 5 S	PECIES IN ROUND POL	
	1)	CARP	204,881	1)	GIZZARD SHAD	242,695
	2)	BUFFALO	142,726	2)	CARP	241,356
	3)	SHEEPHEAD	137,304	3)	BUFFALO	215,282
	4)	GIZZARD SHAD	134,008	4)	CHANNEL CATFISH	98,979
	5)	WHITE BASS	98,041	5)	WHITE BASS	77,249

	Lal	ke Erie (State License Or	nly)	La	ke Erie (State License O	nly)
		2006	,		2005	,,
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL\$	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$
ALEWIFE	0	NA	\$0.00	0	NA NA	\$0.00
BOWFIN						
BUFFALO	85,269	\$0.67	\$57,130.23	96,621	\$0.58	\$56,040.18
BULLHEAD	7,277	\$0.38	\$2,765.26	5,495	\$0.36	\$1,978.20
BURBOT	0	\$0.35	\$0.00	O	\$0.23	\$0.00
CARP	378,123	\$0.24	\$90,749.52	319,700	\$0.18	\$57,546.00
CHANNEL CATFISH	42,931	\$0.58	\$24,899.98	15,657	\$0.46	\$7,202.22
CHUB (Dressed Wt.)	0	\$1.58	\$0.00	0	\$1.37	\$0.00
CRAPPIE	0	\$2.99	\$0.00	0	\$2.73	\$0.00
GAR PIKE	0	NA	\$0.00	0	NA NA	\$0.00
GIZZARD SHAD	52,382	\$0.25	\$13,095.50	14,910	\$0.15	\$2,236.50
GOLD FISH	67,171	\$0.71	\$47,691.41	78,333	\$0.44	\$34,466.52
LAKE HERRING (Dressed Wt.)	0	\$0.39	\$0.00	0	NA NA	\$0.00
LEAN LAKE TROUT	0	\$0.39	\$0.00	0	\$2.00	\$0.00
MENOMINEE	0	\$0.50	\$0.00	0	\$0.53	\$0.00
QUILLBACK	5,030	\$0.31	\$1,559.30	1,600	\$0.26	\$416.00
ROCK BASS	0	\$0.85	\$0.00	0	\$0.89	\$0.00
SHEEPHEAD	7,876	\$0.17	\$1,338.92	331	\$0.16	\$52.96
SMELT	0	\$0.50	\$0.00	0	\$0.50	\$0.00
SUCKER	1,410	\$0.15	\$211.50	2,390	\$0.11	\$262.90
WHITE BASS	5,237	\$0.77	\$4,032.49	1,338	\$0.67	\$896.46
WHITE PERCH	796	\$0.68	\$541.28	0	\$0.54	\$0.00
WHITEFISH	10,693	\$0.99	\$10,586.07	0	\$0.99	\$0.00
YELLOW PERCH	0	\$2.38	\$0.00	0	\$2.21	\$0.00
	FISHERY TOTAL PRO	DUCTION (ROUND lb)	664,195	FISHERY TOTAL PRO	DUCTION (ROUND lb)	536,375
	FISHERY TOTAL VALU	JE	\$254,601.46	FISHERY TOTAL VAL	UE	\$161,097.94
NOTE: Dressed Wt. = 1.17						
conversion factor	2006	: TOP 5 SPECIES IN VA	LUE	2008	5: TOP 5 SPECIES IN V	ALUE
	1)	CARP	\$90,750	1)	CARP	\$57,546
	2)	BUFFALO	\$57,130	2)	BUFFALO	\$56,040
	3)	GOLD FISH	\$47,691	3)	GOLD FISH	\$34,466
	4)	CHANNEL CATFISH	\$24,900	4)	CHANNEL CATFISH	\$7,202
	5)	GIZZARD SHAD	\$13,096	5)	GIZZARD SHAD	\$2,236
		250150 111 201 112 201		2007 707 70		
		PECIES IN ROUND POU			PECIES IN ROUND PO	
	1)	CARP	378,123	1)	CARP	319,700
	2)	BUFFALO	85,269	2)	BUFFALO	96,621
	3)	GOLD FISH	67,171	3)	GOLD FISH	78,333
	4)	GIZZARD SHAD	52,382	4)	CHANNEL CATFISH	15,657
	5)	CHANNEL CATFISH	42,931	5)	GIZZARD SHAD	14,910

	Lake Erie (State License Only)			
		2004	,	
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$	
ALEWIFE	0	NA	\$0.00	
BOWFIN				
BUFFALO	18,883	\$0.48	\$9,063.84	
BULLHEAD	1,650	\$0.29	\$478.50	
BURBOT	0	\$0.51	\$0.00	
CARP	97,380	\$0.17	\$16,554.60	
CHANNEL CATFISH	23,600	\$0.47	\$11,092.00	
CHUB (Dressed Wt.)	0	\$1.18	\$0.00	
CRAPPIE	0	\$2.99	\$0.00	
SAR PIKE	0	NA	\$0.00	
SIZZARD SHAD	5,120	\$0.15	\$768.00	
GOLD FISH	0	NA	\$0.00	
AKE HERRING (Dressed Wt.)	0	NA	\$0.00	
EAN LAKE TROUT	0	\$2.00	\$0.00	
MENOMINEE	0	\$0.51	\$0.00	
QUILLBACK	3,400	\$0.29	\$986.00	
ROCK BASS	0	\$0.96	\$0.00	
SHEEPHEAD	0	\$0.17	\$0.00	
SMELT	0	\$0.50	\$0.00	
SUCKER	550	\$0.16	\$88.00	
VHITE BASS	1,973	\$0.64	\$1,262.72	
VHITE PERCH	0	\$0.73	\$0.00	
VHITEFISH	0	\$0.94	\$0.00	
'ELLOW PERCH	0	\$1.91	\$0.00	
	FISHERY TOTAL PRO	DUCTION (ROUND Ib)	152,556	
	FISHERY TOTAL VALU		\$40,293.66	
NOTE: Dressed Wt. = 1.17				
onversion factor	2004	: TOP 5 SPECIES IN VALU	JE	
	1)	CARP	\$16,555	
	2)	CHANNEL CATFISH	\$11,092	
	3)	BUFFALO	\$9,064	
	4)	WHITE BASS	\$1,262	
	5)	QUILLBACK	\$986	
	2004: TOP 5 SI	PECIES IN ROUND POUN	DS CAUGHT	
	1)	CARP	97,380	
	2)	CHANNEL CATFISH	23,600	
	3)	BUFFALO	18,883	
	4)	GIZZARD SHAD	5,120	
	5)	QUILLBACK	3,400	

1 1 5: (0: . 1:						
Lake Erie (State License Only)						
" (DOLIND)	2003	TOTAL #				
lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$				
0	NA	\$0.00				
9,350	\$0.48	\$4,488.00				
900	\$0.28	\$252.00				
0	\$0.61	\$0.00				
65,020	\$0.18	\$11,703.60				
7,890	\$0.41	\$3,234.90				
0	\$1.18	\$0.00				
0	\$2.81	\$0.00				
0	NA	\$0.00				
0	\$0.05	\$0.00				
0	NA	\$0.00				
0	\$0.48	\$0.00				
0	\$2.00	\$0.00				
0	\$0.89	\$0.00				
2,150	\$0.26	\$559.00				
0	\$1.21	\$0.00				
0	\$0.17	\$0.00				
0	\$0.52	\$0.00				
0	\$0.16	\$0.00				
0	\$0.80	\$0.00				
0	\$0.51	\$0.00				
0	\$0.95	\$0.00				
0	\$1.98	\$0.00				
FISHERY TOTAL PRO	DUCTION (ROUND Ib)	85,310				
FISHERY TOTAL VALU		\$20,237.50				
		, .				
2003	: TOP 5 SPECIES IN VA	ALUE				
1)	CARP	\$11,704				
2)	BUFFALO	\$4,488				
3)	CHANNEL CATFISH	\$3,235				
4)	QUILLBACK	\$559				
5)	BULLHEAD	\$252				
-,	= = =	ΨΕΟΣ				
2003: TOP 5 S	PECIES IN ROUND POL	JNDS CAUGHT				
1)	CARP	65,020				
2)	BUFFALO	9,350				
3)	CHANNEL CATFISH	7,890				
4)	QUILLBACK	2,150				
<del>-,</del> 5)	BULLHEAD	900				
0,	DOLLITEAD	900				

	Lake Erie (State License Only)			La	ke Erie (State License Only	)
		2002			2001	
SPECIES	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$	lb (ROUND)	PRICE/POUND (AVG)	TOTAL \$
ALEWIFE	0	NA	\$0.00	0	NA	
BOWFIN						
BUFFALO	45,367	\$0.36	\$16,332.12	24,393	\$0.47	\$11,4
BULLHEAD	6,500	\$0.26	\$1,690.00	1,197	\$0.29	\$3
BURBOT	0	\$0.49	\$0.00	0	\$0.33	
CARP	336,820	\$0.16	\$53,891.20	185,495	\$0.16	\$29,6
CHANNEL CATFISH	39,778	\$0.48	\$19,093.44	16,328	\$0.61	\$9,9
CHUB (Dressed Wt.)	0	\$1.29	\$0.00	0	\$1.38	
CRAPPIE	0	\$2.77	\$0.00	0	\$2.67	
GAR PIKE	0	NA	\$0.00	0	NA	
GIZZARD SHAD	6,655	\$0.05	\$332.75	55	\$0.07	
GOLD FISH	4,660	\$0.35	\$1,631.00	8,281	\$0.35	\$2,8
LAKE HERRING (Dressed Wt.)	0	\$0.50	\$0.00	O	\$0.58	
LEAN LAKE TROUT	0	\$2.00	\$0.00	O	\$2.00	
MENOMINEE	0	\$0.86	\$0.00	O	\$0.85	
QUILLBACK	1,300	\$0.27	\$351.00	310	\$0.25	\$
ROCK BASS	0	\$1.28	\$0.00	O	\$1.19	
SHEEPHEAD	4,035	\$0.16	\$645.60	2,935	\$0.21	\$6
SMELT	0	\$0.52	\$0.00	O	\$0.50	
SUCKER	0	\$0.16	\$0.00	0	\$0.16	
WHITE BASS	3,810	\$0.82	\$3,124.20	492	\$0.70	\$3
WHITE PERCH	0	\$0.42	\$0.00	0	\$0.58	
WHITEFISH	0	\$0.95	\$0.00	0	\$1.11	
YELLOW PERCH	0	\$2.45	\$0.00	0	\$2.57	
	FISHERY TOTAL PRO		448,925		DUCTION (ROUND lb)	23
	FISHERY TOTAL VALU	JE	\$97,091.31	FISHERY TOTAL VAL	JE	\$55,3
NOTE: Dressed Wt. = 1.17						
conversion factor	2002	2: TOP 5 SPECIES IN VAL		200	1: TOP 5 SPECIES IN VALU	
	1)	CARP	\$53,891	1)	CARP	\$2
	2)	CHANNEL CATFISH	\$19,093	2)	BUFFALO	\$1
	3)	BUFFALO	\$16,332	3)	CHANNEL CATFISH	\$
	4)	WHITE BASS	\$3,124	4)	GOLD FISH	\$
	5)	BULLHEAD	\$1,690	5)	SHEEPHEAD	
	2002: TOP 5 S	PECIES IN ROUND POUN	IDS CAUGHT	2001: TOP 5 S	PECIES IN ROUND POUN	DS CAUGHT
	1)	CARP	336,820	1)	CARP	18
	2)	BUFFALO	45,367	2)	BUFFALO	2
	3)	CHANNEL CATFISH	39,778	3)	CHANNEL CATFISH	1
	4)	GIZZARD SHAD	6,655	4)	GOLD FISH	
	5)	BULLHEAD	6,500	5)	SHEEPHEAD	

\$0.00

\$11,464.71 \$347.13 \$0.00 \$29,679.20 \$9,960.08 \$0.00 \$0.00 \$0.00 \$3.85 \$2,898.35 \$0.00 \$0.00 \$0.00 \$77.50 \$0.00 \$616.35 \$0.00 \$0.00 \$344.40 \$0.00 \$0.00 \$0.00

239,486 \$55,391.57

> \$29,679 \$11,465 \$9,960 \$2,898 \$616

> 185,495 24,393 16,328 8,281 2,935